ki

[CentX EAIROA UF v oR—22024) EFEEH—E

EXEL

TEREFAR

[GEA=WAWS

TOT - FEEAETHITE LR (KFAE) xEEME 1,800 M
2,800 / (FA54ka4 > 1,500 Ha{+E)
3,800 @ (FAka4 > 3,000 Hya{tE)

TOT - FFEABETHTE LR (hEE) scEEM® 1,600 @
2,600 H (F5Mka4 > 1,500 HAfH=)
3,600  (FAJka4 > 3,000 HA{tE)

R T — 7 SR @@ 1, 000 F
2,000 (FA5Wka4 > 1,500 HAftH=)
3,000 (FAHka4 >3 000 HaftE)

MENBRYBEEZ N (AEHESHL/\E) FESFxEREE 2, 160 A
3,160  (FAdik34 > 1,500 A3 E)
4,160  (FA5Jr3 4 > 3,000 Ao E)

MENBRYBEE SN (FREREESEL/\ME) B H @i 3,000 A
4,000 H (FA5k&k34 > 1,500 A5 E)
5,000 F (FASHka4 > 3,000 A5 {FE)

I B2 S 3R 8

FAEENO—T ) T —FEFTESKS I @B ME 1,300 /M
2,300  (FA5Wka4 > 1,500 HAftH=)
3,300 (FAHka4 >3, 000 HnftsE)

R %E

¥ REKE 1 BREHxESME 1,600 /A
2,600 @ (FAhka4 > 1,500 AnftE)
3,600 (FAHMka4 >3 000 HnftE)

RRIJIEE

REJIEE 1 B REEHx@% Mm% 2,700 @
3,700 7 (FAHWka4 > 1,500 AnftE)
4,700 7 (FA55ka4 > 3,000 AnftE)

—BEE/\E D — R o s@imsg 3, 140 [
4,140 H (FA0Ra 4 > 1,500 B4t E)
5140 H (FAhRa 4 > 3,000 Ho{tE)

Uik s AW

[ZLADTAFT—HEEFES (AHERST/\ - BMEKIE) @K 2 200 A
3,200 (FAfka4 > 1,500 HA{T=)
4,200 (FA8ka4 > 3,000 BaftE)

[CLADTAF—FERESH (BHERS/NLY FETHED) xmsiming 2, 800 M@
3,800  (FAdk34 > 1,500 A5 E)
4,800 F (FAfr3 4 > 3,000 A4t E)

BEIE

BEEZHE 1 BEEFHESME 1,500 [
2,500 / (FAHka4 > 1,500 HatE)
3,500 @ (FAdra 4 > 3,000 Ha{tE)




EEARAE

BEEB/INR ) —Hs@%ifis 1,300 @
2,300 (FA5Wka4 > 1,500 HAft=)
3,300 H (FAka4 > 3,000 HA{tE)

TEAUIENDEZE] /NAE Y b ZFxc@EEime 2,000 M
3,000 (FAfka4 1,500 Hya{tE)
4,000  (FA54k3a4 > 3,000 Ha{tE)

INFH 7 ) — U R @z s 2, 700 [
3,700 H (FAka4 > 1,500 HA{t=)
4,700 H (FA5fka4 > 3,000 HA =)

ER/ANR

BEREEFESHTE/N) a— (2 BRE) @& 6,800 [
7,800 H (FA5Wka4 > 1,500 HAft=)
8,800 @ (FAJika4 > 3,000 HA{tx)

BREEFHTE/NY 21— (3 M) @M 7,500 [
8,500 (FAHka4 > 1,500 HnftE)
9,500  (FAhka4 > 3,000 nftE)

S - FHiEE 2 87 ) —FEHF B 4,400 @
5400 (FAhka4 > 1,500 B4t E)
6,400 F (FAHk3a4 > 3,000 Ho{tE)

BEREEEREI2 B 7 ) —RE FH @i 1,800 [
2,800 H (FA5Wka4 > 1,500 HAftH=)
3,800 (FAHka4 >3, 000 HnftE)

fEELEE Y b E o SRscE%EmE 2,560 [
3,560 (FAHka4 > 1,500 HnftE)
4,560 7 (FA5Hka4 > 3,000 HaftE)




